il

g
=
s
i

B4
B4 BR6 R AR FIE RSB S
J@A TSRt ReA YRS e T ~ A A T

2. EBEAR

1) FHI4 BN FEESETT %R
2) BT 185 HIH H 4&f1 64 8H28H

£ Sf T4 2H28H

3) &FEtHM
K% 3. AR Fﬁ%%%@ BE LT, M dsEl2X 070, B
BT RO RS 21T 5 3675 C

4) FEHBNA
BE TEERRIL R D LBb,

o ELASEE TN



i

i
T

N

%lljll
I

kWA | BR6EE AN FERRGHNES ER i W=
HH FEYE S
THH - T - R A7 iy & KA MR N R
FEHE S = 198, 200
LV S & =X 167, 250
4 R S B =X 167,250 | 4 fRIEUE &
5 =8
KA E T L, &S 20
IRYEH & =X 30, 950
4 K MR X 30,950 | 4FR/KYERIERBL (L~LEIZKD
) 0.5 km
HZ £ = 505, 701
HL £ = 505, 701
bR = 505,701 | HitHlE (FESER )
1 kW
B b
(0.003)1  (km2) =
s T & = 496, 640
BRI = 496, 640
BRI = 496, 640 | VEZ£3HE
1 S0
T kAT
0.5 km
FH HubE AT )
0.5 km
Him = 45, 750
It = 45, 750
-1- E+2mE SN )R



i

i
T

N

%lljll
I

¥4 | DR6EE BN RERKRGH N ES E BB
H H L3l
THH - T - fER] B fr % 4 % OB ORR
Fredss: = 45,750 | ¥TEH
1 X
[R5 S =4 2y 56, 294
[ERES S 2y 56, 294
TR 2y 6,294 | fr#r (FitLE - 1581A%HE)
1 X
Ty 2 50,000 | HETRRA A IERE
1 A
TEE = 1, 302, 585
B3Ny = 1,067, 415
SR X 1,067, 415
T ESEG Mk X 2, 370, 000
AT SR A = 2,392, 700
[EREE 57T = 2,392, 700
RS MR H AT AT = 2,392,700 | #RGFHRERAEAT
1 =
R = 95, 000
[ERE5 S = 95, 000
ET R ERE = 95,000 | TET-ECISHVERCE: (HREE AR FE AR
#) 1 =
EREEA (2 OMEER <) = 2, 487, 700
-2 - E A28 SUNHT R



i
I
St
%lljll
I

¥4 | DR6EE BN RERKRGH N ES E A
H H ERERAM (O <)
THH - T - fER] A7 ¥ & 4 % OB ORR
Z OFA = 1 1, 288, 468
— B PR 2y 1 2,023, 832
M SR A s 2y 1 5, 800, 000
TERERET 2y 1 5, 525, 808
JEREE 2y 1 3, 864, 203
JEE TG ERET (B) X 1 255,134 | EHETIHELERET (B)
0.2 )1 (km) =X
#ER1/1, 000
JEE R T X 1 3,609, 069 | EMIEARET (A)
0.5 )1 (km) =%
#ER1/1, 000
JE SRR BIfRE OMERET = 1 41, 520
JEEER R BIRE O F = 1 41,520 | HufERE
B0 )1 (mik
AR FE AR R = 1 934, 666
AR AR 725 RGN = 1 934, 666 | IR MAEAIRLS
1 &
R 1/500
— SR R = 1 685, 419
— A IE R R = 1 685,419 | X7 1 v 7 fkEaE
(1 NRGTEREN
IR IE R = 1 319, 484

-3 - E+sZi@E SN



m
2
%

==
=]

kWA | BR6EE AN FERRGHNES E BOES
H H RS YRR
THH - T - fER] A7 £ & KA OB ORR
AR = 319, 484
FG et/ i =X 319,484 | TR T FEAmERE!
1 £k
FA: B
EiS T E2V 868, 000
Him GREHED) =X 868, 000
revss =X 652,400 | ¥TAE
1 =
BIFRHEREFT &1 etk
1 A
DA X 88,400 | A [RIELHEKAT
1 [A]
WA E - X W&
1 [A]
B R AR ERR = 127,200 | ZABARSRGLTVERL
1 e
R = 402, 576
PR = 402, 576
Ve Gk = 41,576 | k& (ZEE E - mRE)
1 =
B R e = 361,000 | FEFRCRAIERE
1 =
BB (ZOMFMER<) = 7,115, 868
Z OFA = 3, 553, 833
AR B Y 5, 740, 299
-4 - E A28 SUNHT R



FEH N

%lljll
I

¥4 | DR6EE BN RERKRGH N ES E i BOES
H H — RS
THH - T - fER] B fr ¥ = & % BN AR
SERSMA = 1 16, 410, 000
SERSMRE 2y 1 24, 580, 000
— 5 —

E+sZi@E SN



